Error Function Integration Problem 1
x"Erf[b x]? dx

= Rubi is able to integrate X™ Erf[b x]2 for odd m except -1:

Int [x3Erf [bx]? x]
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= Mathematica is not able to integrate X™ Erf[b x]? for negative odd m:
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= Maple is not able to integrate X™ Erf[b x]2 for any odd m:
int (x*"3xerf (bxx)"2, x);
jx3erf (b x)? dx
int (xxerf (bxx)"2, x);
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erf (bx)?
j—dlx
X5

Note that these systems give similar results to the above for the complementary and imaginary error
functions.



Error Function Integration Problem 2
x"Erf[a+ b x]%dx

= Rubiis able to integrate X™ Erf[a + b x]2 for integer mz 0:

Int [Erf [a+bx]% Xx]
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= Mathematica is unable integrate X" Erf[a + b x]2 for integer m> O:
JErf [a+bx]?dx
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= Maple is unable integrate X™ Erf[a + b x]2 for integer m> O:

int (erf (a+b=xx)"2, Xx);
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int (xxerf (a+bxx)"2, x);
JxErf[aerx}zdlx
int (x*2xerf (a+bxx)"2, x);
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Note that these systems give similar results to the above for the complementary and imaginary error
functions.



Error Function Integration Problem 3
X" FresnelS[b x]2 dx

= Rubi is able to integrate X™ FresnelS[b x]2 if m mod 4 equals 3 except if m equals -1:

Int [x” Fresnel S[bx]?, x]
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Int [x3 Fresnel S[bx]?, x]
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= Mathematica is not able to integrate X™ FresnelS[b x]2 if m mod 4 equals 3:
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= Maple is not able to integrate X™ FresnelS[b x]2 if m mod 4 equals 3:
int (x*7xFresnelS (bxx)"2, x);
jx7 Fresnel S (b x)? dx
int (x*3xFresnelS (bxx)"2, X);
jx3 Fresnel S (b x)? dx

int (FresnelS (bxx)”"2/x, x);
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int (Fresnel S (bxx)"2/x"9, x);
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Note that these systems give similar results to the above for the Fresnel cosine function.



